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Algebra 1 Test 3 Review Y Find the slope of the [ine passing
Graphing Linear Equations through each pair of pomts listed
below. \(1’ \
. - . X2~ %l
I Which ordered pair is a solution of the a) é é) and (4, 9)
equation y = 5x - 47 19 .0 - 70
(p=>i0)-Y T I
A (5' 9) X VY, X2V,
B (612) b)  (-4,8)and (4,2)
C -3 4 2-% -6 _-3
( ) ) _ - _?'— - —q
© (@9 - 4=
5 e 3 Find the slope of the | ing (4 O)
c.) (-2, -4) and (-2, 5) ind the slope of the line passing (#,
y " v, through &5,}) with an x-mtercenéc &f 4, )
5"’—— - — = MO‘LSJIMCD ﬂ'o _ \ - l ﬂ_ X\‘L ’%
22 o T adf o
K Vl )(’L \/l . . - )
d) (- 3 -10) and (3, -8) 4 Find the slope of the line passing (O %
through 3 1) with a;gmte:cetn_a.ﬁs_
w = _L = L ﬂ’\{* > \S — 9 ?
- - S t —— —= 2!
3-3 L R 3
Given the following graph: 6 Given the following graph
a.) The x-intercept is‘between which
a)) x-intercept? () d.) Slope of the line parallel to this twonumbers? | g 2
ine? -~ L . . .
b)) y-intercept? (0|’3> llﬁ%m; 5 b.) y-lntel&c(e)pt_?l d.) lSilop;e of t};e/ line parallel to this
e.) Slope of the line perpendicular to| ) Slope? Tfm - 3 _
c.) Slope? this line? ™ise L e.) Slope of the line perpendicular to
¥ 3 -1 L 2/ —_— = E this line? /~'g/
S0 = 2 ’l_m = | nON 53 3 AM= 2




a) Complete the following chart:

¢ Slope //Slope | Slope
Linea | Ond.  [{And o
Lineb | O g
Linec | 9/Z S/ -2/3
Lined | “2/2 [ - /2 | 3/

b.) Complete the following chart:
X-intercept | y-intercept
PNE

Line a —S,

Line b (J)N& (0,2)
Linec| (5,0) (0;'@3
Lined[ (~2 OV (0,-1)

9 Given y=-4x+4
a.) What is the slope of this equation?

—4
b.) Whatis the sé;lne of the line
parallel to this line?_" 1

c.) Whatis the slope of the line
perpendicular to this line?

d.) Whatis the y-intercept of this f.) Graph thi equatlon

equation? ( o, q)

\I @e) Whatis the x-intercept of this

\ _yrd” (l 0)

O =-4+Y
— -4
-{="Yx

e
=X
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8 Given 3x-2y=6
\':N\X+b

a.) Write this equation in slope-

,gnercept form.

3K
/
~ly=-3x+0
b.) What is the slope of this equation?
2 o3

c.) Whatis the slope of the line parallel
to thisline? 2 /2

d.) Whatis the slope of the line
perpendiculaz 70 this line?

LNz
e.) Whatis the y-intercept of this

equation? ( O) _ ,S)

By
\, - __x 3
f ) What is the x-intercept of thi

g.) Graph this equation
A

equation? ( 2 | 07

b.) What is the slope of this equation?

N -2
c.) Wh;‘t%ﬁlopeo t}{e line

parallel to this line? =

|
d.) What is the slope of the line
perpendicular to this line?

e.) What is the y-mtercept of this

equation?
)‘1>

10  Given6x +3y=12 bx+3y=i
\=mx+b -l -
a.) Write this equation in slope- = —lox+12
intercept form. ——Z—\I =k 3

Y=-2x+4

f.) What is the x-intercept of this

equation? ( 2 ‘ Oj

g.) Graph

11  y=2(x-4)+3

a.) Write this equation in slope-
intercept form.

V=-8%>
=25

b.) Whatis th% slope of this equation’
=\2

e.) What is the y-intercept of this

equation? ( 0 ; 5>

f) Graph this equation

1>
c.) Whatis the s()pe of the line
parallel to this line?

m= {
d.) What is the slope of the line
perpendicular to this line?

Lm: —/Z

12 Givenx -4y =-16 S X—'-Jy:-lb
= —X

a.) Write this equation in slope- —thi— Vo
mtercept form. _qﬂV - -\X_:_ql L

Y= Z XY

b.) What s the sj)ope of this equation? e.) What is the y -interce %t of this

—
c.) What is the slope of the line
pareﬂel to thls line?

d.) Whatis the slope of the line
perpendlcular to this line?

—Lr\ ‘

f) Graph this equatlon
A

equation?




13 Given 3y=4x+6 QCL{X'“"
a.) Write this equation in slope- 5 5
intercept form. g= %)( ¥l

= %—X + Z
b.) What is the slope of this equation?

c.) What is the slope o%the line
parallel to this line? ¢ {
A< 12
d.) What s the slope of the line
perpendicular to this line?

e.) What is the y-intercept of this

equation? (O ‘Z

f.) Graph this equation
A
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14 Which equation best describes the

graph below?

3

\

[NORMAL FLOAT AUTO RigEnA("FLORT AUTO REAL RADIAN HP

-y - Plotl Plot2 Pl
y=-x-3 E\Y1B-X-3
y=-x+3 INY28-X+3

- \Y3ELX+3
=- + 2
y=-%x+3 B\Y4B-2X+3
y=-2x+3  m\Ys=
I\Ye=
E\Y?=
B\Ys=

o n@é\

15 Which equation best describes the
graph below?

-\l x= q\[= -y

’ =l
/ﬂ; I 03(6,’) L jfg\\{’_',__(_‘_
Y=-3c+]

zki:?x"l
K 4y=12X-4‘ _,31\4—\
B gy=-12x+4¢ Y7
C -12x -4y =-4
D 12x -4y =-4

w1y Y

Cumulative Information from Previous
Tests!

16

Name each property!
a) xy+d=w+xe /
pistribo /€

b)  (x+y)+z=x+(y+2)

Assoc {1V of &
7 Cmmbtatve o T

d.) X+y=X+y

Re@\ﬂ& e

e) Ifx+y=zthenz=x+y

S\nme v C

17

18

Evaluate -x2 - y2 2
whenx=-3andy=-5 '63)?'— (’5)
-9-25
~24

A
4(3x+2)+2(x+5)
{2 +% 10

bt 1%

Simplify

19 Solve {()( —})) =7x+11

k=15 = e+l
- 3% “x

20 Solve the following equation for ¢
a=1ibe




21

Solve -6x<x+ 14
._X ~X
\
':}x < I_‘{_
31

)(?'Z
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